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INERIR P &8 A A
1 2 3 4 5 6 7 Bo% | ast R {5z
BT BE| KBS | EMT| T | TR |SEHB| ElT |LERR

AHEH 23 24 20 27 19 23 4 136 2
fEMThH 21 26 27 21 21 17 2 133 6
N 20 18 17 21 22 22 2 120 7
EEW 24 17 27 25 25 21 4 139 1
=1 b= 16 23 23 19 22 22 3 125 5
BAEh 25 | 23 22 19 22 19 3 130 4
REE | 21 27 22 23 22 25 3 140 3
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INERE S LE PN B

1 2 3 4 5 6 7 Bo% | Ast &L
g BE| R | Rrh | PR |AEUT| 20 | BEEITH | HEER

£ A8 12 18 9 15 11 10 0 75 7
Rehh 32 26 23 25 25 22 5 153 2
FI#R 28 26 18 19 19 19 17 1 118 6
HEYM | 35 21 25 27 24 19 4 151 4
£ 4 53 29 19 25 17 14 13 2 117 5
R 33 19 25 20 30 25 4 152 3
H 38 34 | 22 27 25 31 19 5 158 1
0 0 0 8
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INER RS & A C
1 2 3 4 5 6 7 ot | Ast g 132
i BAFRETARET | 28 | E@T |FEHB| SIBTHA |[F2IEH
MHRTA 26 24 28 21 15 31 4 145 2
wEm 18 24 19 21 10 26 2 118 6
= 3. 20 | 20 26 26 13 22 2 127 5
=t 16 25 18 17 1 21 1 104 7
M#EHB | 23 | 23 18 27 9 22 3 122 3
=EHA | 29 | 34 31 37 35 29 6 195 1
freemm | 13 | 18 22 22 22 15 3 112 4




